Tuesday’s RALLY COACH -
Multiplying 2-digit by 2-digit

Partner A Partner B
Independent Practice Advanced Work
. 2 0 - 4 4 0
x|/ 3 8 Xx 6 4 9
- 6 4
x| 6 5
: 6 9 8
x 2 8 1
S a2
x|7 0
‘" 66 8
x 7 1 8
2 7
X 4 8
. There are 253 hens on the farm. 2. There are 240 cdlories in a can of soda.

Each hen lays 3 eggs per week.

How many total eqgs are kaid in a week? How many cdlories are in 6 cans of soda?

answer:

answer:




Monday’s RALLY COACH -

Multiplying 3-digit by 1-digit

Partner A Partner B

Independent Practice Advanced Work
5 2 3
L. 2 0 9 x 1 2
X 6
‘250 6 9 3
X 4 X 2 5
| 7 3 7
X 3 2 5 6
X 4 1
" |9 a4 8
X 2
2 0 4
X 8 9
a8
5,8 76
X 3
| 3,298
X 9




